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run_13076007_FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Fri Mar 16 00:42:08 2012

IADC for FGT RDO=1,ARM=2,APV=5

[ 1000 2000 3000

raw ADC

ADgped

0 1000 2000 3000 4000

[ADC for FGT RDO=1.ARM=2,APV=7

raw ADC

ADGped

0 1000 2000 3000 4000

IADC for FGT RDO=1,ARM=2,APV=8

raw ADC

ADCrged

0 1000 2000 3000 4000

IADC for FGT RDO=1,ARM=2,APV=9

raw ADC

AD%ped

3000

4000
raw ADC

4000

[ ADC for FGT RDO=1,ARM=2,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

[ ADC for FGT RDO=1,ARM=2,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7

" 1
100 120
APV channel

- 4000 p—=
] =
o =
Q 3500 f=— - -
= =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—--
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=8
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=9

4000

40

80

100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel
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